COT 4932

Spring 2005

Assignment # 2

Date: 1/25/05

Due Date: 2/1/05

1. 
Compute the checksum for the message 1100110011010101 using the polynomial

x4 + x3 + x + 1.

2.
The message 111101110101110110 arrives using the polynomial 

x6 + x4 + x + 1. Is it correct?

3. Construct a Hamming code for the 6-bit ASCII code. How many parity bits are needed? Give an algorithm to generate each of the parity bits. Show how each of the following characters would be encoded.

Alphanumeric

ASCII


:

000000


A

000001


I

001001


Q

010001


Y

011001


Z

011010


0

011011


1

011100


9

100100


(blank)

101101

4. Compute the Internet Checksum for the following data streams treating 4 bits as a number.

010111000101100111101011

